
Section A-A
 

Plan View

1

1

2

2

3

3

4

4

A A

B B

C C

D D

STAMP

6/23/2016
DRAWING

Spar - Bolt Down.idw

  19922 W. 162nd Street        phone  913.390.8787
     Olathe, KS  66062           projects@structura.com 

REVISED DATE

 

 

SHEET NUMBER
1  of 1 

A A

Typical Spar Anchor Bolt Installation

Spar Poles

3/4"-10 HEX BOLT x 2" SS
& 3/4" WASHER x 1-1/2" SS

WOOD TEMPLATE TO
FACILITATE  INSTALLATION
MUST BE INSTALLED LEVEL.

CONDUIT 
(BY OTHERS)

2'-2"

CONDUIT OPENING

FOUNDATION DESIGN
(BY OTHERS)

WOOD TEMPLATE DIMENSIONS
MATCH BASEPLATE DIMENSIONS

CONDUIT
(BY OTHERS) 3/4" ANCHOR ROD

W/ COUPLING NUT
(PRE-ASSEMBLED)

3/4"-10 HEX BOLT X 2" SS
& 3/4" WASHER X 1-1/2" SS

WOOD TEMPLATE
(PROVIDED)

Assemble anchor bolts to template as shown above.
Install bottom of template flush with top of finished grade.
Note: Template must be installed level in both directions.

Foundation Design
(By Others)

o5.0" SPAR

BOLT CIRCLE: n10.0"
TEMP: 91211
 

o7.0" SPAR

BOLT CIRCLE: n14.0"
TEMP: 95862


